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js are given, out of

Four pairs of wot
which the words " three pairs bear a
certain common clationship. Choose

the pair in whih the words are

differently related
(A) Daring: Timid
(B) Beautiful : pretty

(C) Clear : Vague

(0} Youth : Adult

Choose the odd one.

(A) ABpQ (B) npRS
(C) PQsT (D) EFil
Complete the given series :
12,32, 72,152, (....)

(&) 312 (B) 325
(C) 515 (D) 613

In the given letter series, some of the -

letters are missing which arﬁjﬁﬁeﬂ n

that order as one of the af[:q‘i'ﬁttivas

below it El_'lme the correct
alternative.
— behbha —a-
(A) ababb (B) baaab
(C) bbaba (D) babbb

if the letters in PRABA are mﬂtﬂ o
27595, and THILAK are coded as
368451, hpw can m.[AMml hE
coded 7

(A) 3? 13668
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(A) ABpQ
(c) PpasT

3. ﬂﬂ#ﬂﬂﬂﬁﬁﬂﬁ

' 123:?:151.:,1
(A) <312 (8) 325

(0} 515 (D) 613
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the ages ﬂfﬂkhl* and 8. aifdad affy CAMED ?ﬁarﬂmm_qud i
8. Ratio be_tww- after 6 years Akhilrs & gad | [ “m'ﬁﬂﬁ 26 949 21l
EEEIJEII: i5 4 25 ?.Ears What - r'l “ng
‘\ age will be e 15 Fyep @) deHT &7 41 k
. DEEPHk 5 ﬂﬂ-j' IIEEEBI 18 {A} 14 '.[B:li 15 W et .
Al 14 (B) 22 wet=m
;CJ 20 {Dj 22 H:] ED } f
g A does a waork in 10 days E!‘ld- B does 9, A U iﬁ]ﬁ m‘[ 10 ﬁ:ﬁ # 'ﬂﬁ'ﬂ'l'g’ afﬁ'g
> the same work in 15 days. In how aeit 'Eﬁle.l-' ﬁ 15 iaq‘iﬁ Pl % | 4 Eﬁ‘ﬁ
many days they together will do the v e ot @1l B e R ﬁ Y
same work ?
(4) 5 days (B) 6 days
(C) 7days (D) 8 days
10. A person crosses a 600 metre long 10.
street in 5 minutes. What is the
speed in km/hr ?
EEIT
C) 82k Bt
(C) m/hr (D) 9.2 km/hr '{Ci 8.2 km/hr
The metallurgical process in which fran
depressant is used '
(A) Roasting
(B} Froth floatation ;
(C) Electrolytic refining of Al
(D) Calcination

Resistance of which metal is least ?

(A) Gold (B) Silver
(c) Copper {0) Mugginiu PR X
21 which carry blood from ‘ % B B W
*ﬂ!]
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_ rernatives, choose
oucpgue 5 RE
meaning of the gven ok
LUDICROUS:
(A) Absurd

(€] Simple

Choose the word opposite in
meaning to the given word.

CARNAL |

(A) Sensuous {B} Spi{ituai
(€] Visionary D) Imaginary

B) Clear
p) Dismal

Out of the four alternatives, choose
the one which best conveys the
meaning of the phrase.

An old unmarried woman.

{A) Virgin B]  Bacheler
(C) Spinster D) Matron

Fill in the blank with appropriate
Preposition choosing from the four
alternatives given below the
sentence : .

The lives of great men inspire us

hopes of bright future,
Al to. B -with’-fg'
C) of D :fqr

Choose the correctly spelt word.

A} Menacious
3] Mendacous
) Meancious
(D) Mendacious
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T
habetical arder 3"
= the fourth

one that comes il
pesitiﬂﬁ.

|A) Bishop
(€ Bicycle

(B) gifocal
(D) Bitter

3g. Five boys took part

finished before mohit but behind
4 finished before

Gaurav. Ashish

sanchit but behind mMohit. Who won
the race 7

(4) Raj (B) Gaurav

(€) Mohit (D) Ashish

39, Choose the correct alternative.
Accommodation : Rent 1 Journey : ?
|A) Expense (8) Octroi

(C) Freight (D) Fare

4D, Find out the wrong term in the given

Series.

5, 27,61, 122, 213, 340, 509
(A) 27 (B8) b1
(c) 122 (D} 509

41. A man buys oranges at15 a dozen
and an equal number at ¥4 a dozen,
He sells them at T 5.50 a dozen and
makes a profit of ¥ 50. How many
oranges does he buy ?

(A} 30dozens  (B) 40 dozens

(C) S0dozens (D) 60 dozens

37, fau o gl @ AN aafdrd
aforg e = vorr TR Are waz @
e anforg
(A) Bishop
(C) Bicycle
38, ey g A g ¥ R ey 1 97
e whfet A e, 4d TRE 1 e I
5 1 aufars 3w O TR G AR e
ﬁlﬁmmaﬁliﬂﬁ‘ﬁﬁﬁiﬁ? -
(A) T +(8) "a '
Wb

(B) Bifocal
(D) Bitter

(c) e (D) onfer
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(A) Raﬁ‘rﬂﬁmm
(8) Rao Egmsingh

(C) Fulsingh
(D) Hemﬁﬁﬁgﬂra

59. Which  famous personality’
associated with Mokhra Villag
Rohtak ? \

(A) KalpanaChawla
{B) Baba Ramdev
(C) Sakshi Malik

(D) None of these

60. National E&mw Production Researm
Institute is situated in which city e
(A) Yamunanagar (B) Panipat
|C) Faridabad (D) Karnal

. Sultanpur Bird Sanctuary is sntu?atfeﬁ”
in which district of Harqana AL
(A) Rohtak — (8). ) Sy
fgj Faridabad P:



The womal mountaineer,

climbed theMount everest twice, IS
(A) SantoshYadav
(B) Sunita Sharma

(€) Malleshwarl
(D) Mamta kharab
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73. which river = flow?
tpura and the Vin
R (B) ﬁudauaﬂ!.

(A} Narmada |
(C) Tapti (0} ‘lﬂaﬂf'--.:n;?_j;E ‘o

Where will you find the *,:"I“rE

National Park ?
(A) Karnataka
(8) Tamllﬂaﬂu
(€) Andhra Pradesh
(D) Kerala
5. Who presides over a joint sessran -“‘F
- Parliament ?

(A) TheSpeaker
. {BJ The President

een the 8
betw [ G m fyrerad

dhya mounta ns
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Which was the first Open.
in India ?

(8) Iawahaﬂal Nehru Un
(c) Kamataka Llnivemty







o4, Which day is observed
Rights-Day ‘
(A) 24" october
(8) 4™ July
(C) 8" August
(D) 10™ pecember

Which metal is addﬁd"‘? steel to
make it stainless steel ?
(A) Chromium  (B)
(C) Carbon (D)

Who has been swnrn:




